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1. Arithmetic (5 A)

2. Elementary Algebra (34X %0)

3. Commonly Known Concepts of
Geometry (— & F1 LT #E2)

4. Data Analysis (¥(#% 451

GMAT ¥C#ER4r 0BT E B B & LI
HR—HFEERNEFEEEREAN, £
7 % £ B 245 1Y basic mathematical skill (%
A B T9). understanding of elementary
math concept (FEABFHSHEMR) IR
ability to reason quantitatively and solve
problems in quantitative setting (FE¥(#IF 5
1B FHEEE AR R I BE ) o

SHTFREXETS, GMAT ¥
MEBEHNERKEI>RBRBVIETRERY
RN E, BT LAHA R KA. 2R
W ROBE T FH IR LS, RIAREH
SEHEEFEDHER, FHEURXHE,
FrodREE AN T BHEER A, BB
B, ERNRTENRT.

12 ETS %F GMAT £33
NHE F L

GMAT W ¥ ZFM B M B A,
Problem Solving ( /a] & 5k f## ! )l Data
Sufficiency ($#E £ 7+ 8Y), B7ERRE A%t
Bz, BEER. KRB LR
T A3 ) R P L 1 SR T B R S F R ER
BRE, BrREREERE.

£ GMAT IHENE RS, BEWHISIK
37 B/, BERAELEE 75 HEPATER. Hh
Problem Solving B K#F 21~22 i, Data
Sufficiency Bl K AH 16~17 1E . BAFERIE
ERPTEHIA.

PAF & ETS 5 F GMAT %Mo ME
TR

Quantitative Section

1. Problem Solving

Directions: Solve the problem and indicate
the best of the answer choices given.

Numbers : All numbers used are real
numbers.

Figures: A figure accompanying a question is
intended to provide information useful in
solving the problem. Figures are drawn

as accurately as possible EXCEPT when
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it is stated that the figure is not drawn to
scale. Straight lines may appear jagged.
All figures lie in a plane unless other-
wise indicated.

Ifu>tr>gq,s>t and t > r, which of
the following must be true?

l.u>s

II.s>¢q

L. u>r

(A) 1 only
(B) II only
(C) 1I only
(D) I and II
(E) II and III

Answer: (E)

2, Data Sufficiency

Directions: This data sufficiency problem
consists of a question and two statements,
labeled (1) and (2), in which certain data
are given. You have to decide whether
the data given in the statements are
sufficient for answering the question.
Using the data given in the statements
plus your knowledge of mathematics and
everyday facts, you must indicate

whether

(A) Statement (1) ALONE is sufficient,
but statement (2) is not sufficient.

(B) Statement (2) ALONE is sufficient,
but statement (1) is not sufficient.

(C) BOTH statements TOGETHER are
sufficient, but NEITHER statement
ALONE is sufficient.

(D) EACH statement ALONE is sufficient.

(E) Statements (1) and (2) TOGETHER

are NOT sufficient.

Numbers: All numbers used are real numbers.

Figures: A figure accompanying a question is
intended to provide information useful in
solving the problem. Figures are drawn
as accurately as possible EXCEPT when
it is stated that the figure is not drawn to
scale. Straight lines may appear jagged.
All figures lie in a plane unless other-
wise indicated.

Question:

If a real estate agent received a commis-
sion of 6 percent of the selling price of a
certain house, what was the selling price of
the house?

(1) The selling price minus the real
estate agent’s commission was $84,600.

(2) The selling price was 250 percent of
the original purchase price of $36,000.

Answer: _ (D)
1.3 GMAT # %% # 8 #

Quantitative Section

The quantitative section of the Graduate
Management Admission Test® (GMAT®)
measures basic mathematical skills and
understanding of elementary concepts, and
the ability to reason quantitatively, solve
quantitative problems, and interpret graphic
data. Two types of multiple-choice questions
are used in the quantitative section of the
GMAT—Problem Solving and Data Suff-
iciency.

Problem Solving and Data Sufficiency
questions are intermingled throughout the
section. Both types of questions require
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knowledge of arithmetic, elementary algebra,

and commonly know concepts of geometry.
Problem Solving Questions

Problem Solving Questions are designed
to test basic mathematical skills, underst-
anding of elementary mathematical concepts,
and the ability to reason quantitatively and to
solve quantitative problems.

Data Sufficiency Questions

Each Data Sufficiency question consists

of a question, often accompanied by some

initial information, and two statements,
labeled (1) and (2), contains additional
information. decide whether
sufficient information to answer the question
is given by either (1) or (2) individually or, if

not, by both combined.

You must

Data Sufficiency questions are designed
to measure your ability to analyze a
quantitative problem, to recognize which
information is relevant, and to determine at
what point there is sufficient information to

solve the problem.
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2.1 HFER®R

KRR REFBRA—Z i, R
S5¥FITE, BERBULER. FRES
8B ORWCOTP S, BXRARTE, A8 4k
B, BERRETRAE. RERARX M
B, EAUKRRIMREERRS, EEE
2 SR AL BMB BAEK .

5REEEBBHARE"ZRAAE,
GMAT F## 5 s B B E ARS8
B BETEEGANRE. LA, S50
G T7 T BORNIR, A3 B 1 R A A B )
B, ERRRERRRE.

UTZFANBIF, A ERR AT
HEEFTEA, #EETHFRFEEHL

# 1: In May, Gina sold 20 percent more
magazine subscriptions than she had in
April. In June, she sold 20 percent less
subscriptions than she had in May. The
number of magazine subscriptions Gina
sold in June was what percent in April?
(A) 120
(B) 100
(©) 96
(D) 80
(E) 64

WiF: SHEEHHRE S ARtk 4 AHE
20%, 6 Aft 5 A0 20%. A
& 6 ArEHKREL 4 AR ES
ZJL?

ME: FENEREREQ).

EEAAEEHARBR, BF —&EES
AMBEHEFEB), HEIRREE
B EMINT 20% . RE RS
20%, AHEET Rk ?
f FECI R LR B, SRR B
R4 AR EHERRIAZEN X,
M s AREHAIZREN X x(1+20%)
6 A 7S %0y
X x (1420%) x (1 — 20%)=X x 96%
Eit, AEHERERECMALRDB).
ZERR: T AR E, /AN
SHERRIERE.

$1 2: Kim bought a total of $2.65 worth of
postage stamps in four denominations. If
she bought an equal number of 5-cent
and 25-cent stamps and twice as many
10-cent stamps as 5-cent stamps, what is
the least number of 1-cent stamps she
could have bought?
(A)5
(B) 10
)15
(D) 20
(E) 25

Bk WL THMEN 2.65 XITTH 4 FHE
{E(denominations) K HESE . FEIIEH
5 RITHIBRIERT 25 EAHHIBBER N
MR, H 10 RAEF R 5 £
BREEM 2 f5, MAMB DB L LD
1 R HIBRER?

PRE: AFEMIEHREREOC).
B’EMET mik | R4O4MEEE, B
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LT nok s OB, MWL T n

3K 25 E S HIABEEF 20 5K 10 E S HIER

F, REEETLUBELUTHE:
S5n+25n+10x 2n+m=265
m=265—50n

B m B, BMALTEn WEBEKEN

5 B#E¥Im=15

22 FiXIEIT

221 [o)#EKfEE (Problem Solving)

i) 5K fi# 7% (Problem Solving) ¥ B 7
PAR ABEARWEAR. K. FHEILA. &
v JUART 70 P 3R S T PO R R A T R F g
7. R RE KA 4y — R R DU 2 SRR
EERNER, UHESIENEBIKN.

2 M T AR BBR AR B, R DA R L
J7H

1. 7£ 75 PR ESETER 37 HRE,
F AN EEREXREEN. EEREE
T 2HINRRBERBE L. HEEFIXEE
BLEWRTH =0 EEFEKAE, Bit
HRHAIARBE T .

2. FR MBIy, T CARHR
% RNEFIREEE.
fl: A decorator bought a bolt of defective
cloth that he judged to be 3/4 usable, in
which case the cost could be $ 0.80 per
usable yard. If it was later found that
only 2/3 of the bolt could be used, what
was the actual cost per usable yard?
(A)$0.60
(B)$0.70
(€©)$0.75
(D) $0.80
(E)$0.90

BiE: —NEHEHITET —LF RN
A, AN 3/4 BIARE] LAERT, et
g0 AT LA R B A B A A 0.80 & T
F AR R BX UL A 2/3 B4 A
PUEF , AR 480 BT DA FH 59 #6 B9 SEFR
AR % A FEIT?

BE: AENWERBERELE).
BEEZEE—FIXETHD EFFHE
B/, L EHEELEXAEM. F4H
WERS K, RKE 3/4 ffa] AF
H, ER 23 AT UUER. R,
REAKNERRAERT 0.80 E T,
YUMETMREERE)TE

EEWRRN: S BT RIS B R E w
B, AEEEHWH, B, &R
LA E AT AL EMEE.

3. MAFHER, BEC KM
BH)E . THENAE EREHGE—
A&, FHESRE&FSHIERK 2%,
#: How far can Scott drive into town if he

drives out at 40 mph, returns over the

same road at 60 mph, and spends eight

hours away from home including a

one-hour stop for lunch?

(A) 160

(B) 168

(C) 180

(D) 192

(E) 200
B BN g/ 40 EEMEEMK

FFEBW, RGN 60 3 RAE

BEIRE], SMIIET 8 /IEY, BHEEHT

WRAET 1 /it 1 19 B Rhaer A 3K B 3458

BHRERED?

BE: AEMERERE®B).
B S PR AR R I TE) & 7 Ne, T A
RIELHE O RIE LA N B 8 /N IX
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7 /NEY B AR B (R RR, — &R 4 Rtk
M FFE R4 B M i8], 55— 39 2 ik
M BLIR [B] 2% B By A e 8] o W 4
EWEAKKER X M, Bads
R[E KB RN R R 7 - X /MR,
ATLAfR 2]
40X =60x(7-X)

X =42
B R FFE N K B EI B, LA/
i 40 REHEEITR T 4.2 /hE, B
% 0fth K OB W OE B OBREME
40x4.2 =168 FH,

4. NERFHRXABRKIMERBITE
ARKE, ATHBEHREEMES. &
BEE S MERTH—ARERNER, B
ERRE LA BERPFFE A, —RFFH
JLEREH .

2.2.2 HIEF S #(Data Sufficiency)

ERE:

75 Bl(Data Sufficiency) MU E K
x4 R A BRA B MR BRA T EH
T3, i BRI A 4 5 ) R A R
71, BRYEC4S W AOBE, BHARLEIE S
5 R 5%, TR E FE AT R B B0 T BT 45 B0 e T
A2 PRI EE R, DLIGSIAD 56 7% 4= iy 38 Fn &%
SRS .

EMERET BN, ZBENEZEUT
JLA:

1 ERRKEEHROBFER, RER
EEERHIERIIER.
$: What is Steve’s annual salary and Maria’s

annual salary?

(1) The combined total of the annual

salaries of Steve and Maria is §
80,000.

(2) If Steve were to receive a 10 percent
increase in annual salary and Maria
an 8 percent increase, their

combined annual salaries would be
$ 87,000.

B 2R ANEWNEF SRS DET?

(1) SEFRFMEWHIFEFHLILA 80000
%X Jt.

Q) WMREFREEFHMI0% , B
HIEHIBIN8% , MiHES B3t
A 87000 £ T

BE: NENEHREREC).

R XML HFEFH LA X Y.
BEBORENE — A FE:
X+Y=80000(A:FH), —PMHBREE
BUWAREE, FFUOATS. B
Bt REFH— TR
1.1X+1.08Y=87000, FrL QBTG .
(DMQR)ME ST i — IR T4,
AT ATRLK S X Y (R Rkt
)

ZEWRS: 75 Data Sufficiency BR, %
EEFENEAERAN A X381
BHIZER, RN IZREAHBWERRE
FHEW A M [ R B AR M) | .

2. BMERBFM 1| RUESE, BTH
AEB{EHEF(A), TN RBEHE, F
FA 2 RO Re AR IR &4 2 Bk
R, W NEFED).

3. MARARN LMBIILNFRHEE
ERR. Bl R B ESE, BRIV 2
g, AFENZABRE 28 X, MAMHX
—HEE R RS, NERKEM 12
BERRIETR BT .

4. Fe¥vLdE, BHREBILMA.
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& B BNEAE 77 T R I, SR BURH LR

RAR 2 ) I K

$: Does the line L pass quadrant [V?
(1) The slope of L is negative.
(2) y-intercept of line L is 5.

Wi BELANFNEEE?
(1) B& L MRERAE.
(2) H& L £y Mr#ELR-s.

BE. TN EBEERD).
REZLEEERA LB — MR RB
BE, REBNIZEEBEE T X T
fr 1, H& L7E y B 8RE %, M
ATRFERE D>, HREREELHEN
.
REEEEEEXH T HETRIK, —
RATARBEREY, —REFHEREN
1. ATREZLEMNIAR, RATHE
T TN & B MRS TV, LR
I RS A R AR A

PRI «

TEIRFEERA, HERIE TH=AHE:

WA 1. B UL REE RER AR
1R] & ?

B 2. BN ULERREABKMR
F

HE 3: BAMRARE—BREX
o ) B ?

WRAE | HEREHFER, BATTEE
FIERZEREQA)IUD): FHWHE 2 HE
%, THEERIERD), BFUEERA).

R BE 1 EREEER, AR
kR EEREB). (C). (E): HHMria 2
MER, EEEMERE®B), HFUWEHEHT
BEE B R AN(C)BR(E)-

BG, BHWWE 2 WER, HHER
(), BUIEEEE).

RAX PP RERE ik, BMEARRE 2 H A&
IR 3 AN AR, ] AR SR EERR L AT
BEERAEIRAIE TN . Bidn, 5 R A8 ) 1
MBEEREEN, BAaEHRREIE(B).
(OFE); MBHMERE I WERESTE
B, M4, REGREHERRBEEDUE); WRA
FERE 2 MERERETER, ARt aeHE
RRIE I (D) A(B).

HEZ L e ASr i ¥R FR MRS 7%,
R AEBHHF R F R B & S,
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Vi R AE, WA EHAEGT
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2 A E RE S BV R ISR

EHEEXRP A RERBEF(EEE
GMAT ¥¥ 1 &% PR R )M R E
REHEK, XEXNEMT —IM2H. RE
HEE, FLUUARERFAEBIX —EB2H
WA M EERAE KELRBERR
R A, RIGFMUEREHR, ERE
(I 1) B R GMAT %%, e A
RLNTF, BEINE,

—. BREM

MEMBEEH R, SRAERKE
HREZEEEL R ARREH T RE R
SHIRKRE, LR &EEN XTI EMH
R EZ —. REHELE RE—NER ML
W, EBAGIFE R, R EERSL
MR, LE DR A B R AL B A
B ERR. BT RGO RSB
AEHZE., ERTHE 3 ED, BIKRIXL
R ) R AT 43 26, B LATVESR T et 51 R LA
BABMEIM, MUl KEERTER,
AP AT TR A A A B S

—. Bk

FEEEP—ALFERRFRETERESD
AR R SR, T iB AR Bk R RS, TR
3K [E %4 1E Data Sufficiency BEHIE 5 AL
K. EABHWE4FED, RNBETHTR

SPGB XT B AR RS, FEXNBE
Data Sufficiency .

=. HilENRE

WEEENER—SERB AL,
S RCE iR A, EHRP HEEEm
ML, GMAT ¥ZEEBRMEARELA
A EERBHREVERYRTHR¥ERS
S—iE? EAPHE S Bh, LA RA
AN, A2 GMAT %%, REEAE
BEEFFIHZE.

M. IBAE[C)EE

WILEMERE N, NBERERBE,
SHE R4, FEHEEERBEHR M
ERRERG . AR 6 BHEIREH XLk &
TR

B, HiRE

BRT DRIEE. BB, miRmrg
SUAREMEIRE, BELE RBE—HE
BEACRBEERNRATETF, MmE
BT H—HINESAAERE . HEH
EFER RN AERERN AR REMR
RERIEYS, TEERR ENER. B
3t 37 R, HIEWEREERE 75 HBASK
i SRR EEER gt 2 8. B AU
MR, EEH BRI EER .

FHEE T ERAS U LHAFE,
KERPTETFRREDS 2RSS, T
#HEZ R GMAT BUELRFH I P HEHA
M7kt R, LU KiE& .
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LRABRREHEREZLEL AT
AREREARFERSIRKEE, LR EEE
%3 AR — N 1) R

AERERT KBELEE LK DR E R
BEAT PR, M CAVEAR AR RO B R LU R ST FE
LASIEST KEERER, Bb B S Rk
BRI EBIRST -

3.1 FlEehirE

R —LERANBER N SREM
o MR AR AR, —EETEE B ER
BEATH .

HRAMEBRBRER TN HE LRSI
=100 cents). HJ[E]AI% (W lhour =60
minutes = 3600 seconds) A K 5 B8 B # #e(dn
1 kilometer = 1000 meters).

—HBERT, RANMERBNAE
Problem Solving &% , {E7 B 1 tH IL7E Data
Sufficiency ¥ . Xt F Problem Solving %,
WMEEE P HRAASRRAL, —RESEERET
B, It i (B H BB (5> F R B F 60,
B A it (] ) 2 1 R 60)%%

A [F] Bor B % 4 i T DUAE A HERRVE Y
—AMEKE . Bt KA AH B A7 A BT LU E
W BTLA m /NEEIN & 0 530 R m+n/60 /N
B, TR m+n i,

# 1: A machine costs m dollars per day to
maintain and n cents for each unit it
produces. If the machine is operated 7
days a week and produces r units in a
week, which of the following is the total
cost, in dollars, of operating the machine
for a week?

(A) 7m+100nr
(B) (700m+nr)/100

(C) Tm+nr
(D) (7m+100n7)/100

(E) 700mnr (g - 9}

BiE: EEVBEREFE m XK BANRE
¢, FERE—HREFE n EHH
A, RunizNE—A 7 RT/EHAE
AR r 70, THIR—IRELARIT
A AT IR R ZH 2 — R R A ?

ME: SERANAmTEREH:

(700m + nr)/100
FrLA(B)is correct.
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#12: A certain car increased its average speed
by 5 miles per hour in each successive
5-minute after the first interval. If in the
first S-minute interval its average speed
was 20 miles per hour, how many miles
did the car travel in the third 5-minute
interval?

(A) 1.0
B) 1.5
(©)2.0
(D) 2.5
(E) 150
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